= = ) B) ¥ X3 E4A1H A U |
. f= sl -4 ﬁ+ [E] L *EE i =) SHMIE0ANE| 24 BW b @ - l:t’“%ﬂ
THEA: SRITHRTE#FEDOIT TN B ERwETETE WV ==/ E
X =) S M1 E11A29A 243 EHRM WG B
6308 740-797'1 8H31H740-797°2
A 3 A 4 A 5 A 6 A 7 A 8 A R 10 A 11 A 12 A
# =
T 2 & . & ) 59 |LEE 10 20 3 10 20 30| 10 20 3 10 20 ad| 10 20 3 10 20 31 10 20 30] 10 20 il 10 20 30] 10 20 Ell
£ 1 172
- AT
[LARBE] 2 1] e2e - =
ANET *4R
E-o 1 87.29
AERAIT
- 1 192
(& E) W 17 7hor AL e
10,000m3 i) m3 | 16,000 380
EE) W F-7Vhot AL WH . +330m3/ B 1.8 = 685
Y 10000m3k m3| 4000 185
E:JET TEXF-DETID) *4,000m3--170m3/ B %18 =430
DIDE ML L=1.5kmEl T m3| 4000 227
ITHERT #4,000m3--170m3/ B X 1.8 = 430
® 1 142
I
3| 4000 142
BRInET " #4,000m3--170m3/B x18=438+a
- 1] 7195
133 EELL—X)
m3 20,000 274
IDFER ID(EH-EARVLISD) #20,000m3-+760m3/E| x 186 = 48H
DIDEEMA7Y L=31.5kmist T m3| 20000| 7522
=
_r”! BET #20,000m3+330m3/H| x 1.88 = 1108
£ 1 008
WAREST
1 006
FES] 55400 H200 X 200 % 8 HIREE11m =
$TAKAm N 470N WL 1 0,06
wHRT *2H x 1.8 = 4H (CCREL)
- 1 545
THFEBLT
1 223
LT3 22 X 1524 X 6006 B - M= Lo
140 223 frerrereeess]
WRESRT * 408548V E X 18 = 58
o 1 1.61 W
EZoF) AEED3 H=1.08m W=1.im [ g — C——]
300 1.61 =] —_—
SAPET 2 * S - WIR - % 3008 +40%/E X 18 = 145
- 1 0855
FEAMLI=VX |BR-RE [ 3
20 0.55 _ PITYPTTrrTreT CECTTrTT
ZARET - *REIA-MEIAX19=48
® 1 1.08
513 N [ZARSRHRAD
AH 6 108 _
o) HE [G]
3] - 1 206
EEARL
£ 1 200
WET
- 1 200
[EE3 EEZ T 500m2BLE
2| 1,200 2,00
RHRET - *1.200m3--300me/ B ¥ 1.8 = 68
- 1 006
WARRT
1 008
i i T  ——
HEY TGSl B L) 1| oos = |
=
[\ B ] - ; 150 *20 x 1.8 = 48 (CCAAMAL)
EEARL
£ 1 150
WET
= 1 150
[EE3 EEZ T 500m2BLE
2 900 150
= #*900m3-+300m2/E x 1.8 =68
[REHEBE] = 1 006
TRHRET
£ 1 008
WAREST
- 1 006
FES] 55400 H200 X 200 % 8 HIREE11m =
(AR INT 1, 1] oos _
=
= a: 1 e *26 %18 = 46 (CORRREL)
RHRET
E 1 012
WARRT
1 012
i s T —————
HERVINT AT 7 2| ow — =S |
*2H x 1.8 = 4H (C )
[#EHR] = 1 058
HEHS T
- 1 058
BET
1 058
’gl_i —— I ——————
2 300 058
ICLEEE = #300m3-+300m2/E x 18 = 4H
£ 1 118
HH5IRMER b m
4A26A~5A25H 10513|E|~11525E|
100 .
o / x| 100%
a0 il 98.85%
i 740-F97'2|  100%
740-7971| 100%
o0 HE 100%
ok W OE (%) N
HE * 740-F97°2| 70.05%
R 740-797°1| 85.47%
it © i 1.72% HE 90.50%
- 7407971 1.72%
T ° HE | 1480 wiE | 04 it
- 740-Fy7'1|  2.74% 740-797°2) .
e * HE 40.24% 730 42.50%
0 ESd 0% £ 1.72% HE 65.50%
HE 0% HE 2.43%




